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Topic:- General Studies

1) The process of transmitting information to multiple internet connected devices is known

as/ $EC A IS §U 5 SUBVI a9 A1 U¥a 34 Ft uferan & fAy v & w1 S 21
1. Multi processing / 9 TN (Hec! TRIRIT)

2. Multitasking/ HeeIeTRT

3. Multi addressing / Ace! TSRIT

4. Multicasting / HeclapTReT

Correct Answer :-

« Multicasting / AcCidIReT

2) Where is the Ustad Alaudin Khan Sangeet Evam Kala Academy situated in Madhya Pradesh? / 3&Iq amﬁq ECIE]
wiftd Td war srpTeHt Hem ueR | bt fRUw 72

1. Gwalior / aTferaR

2. Hoshangabad / FERIEIC
3. Bhopal / ure

4, Indore / 3‘:3?

Correct Answer :-

« Bhopal / HIOTd

3) At Jabalpur, the edition of the India-Vietham Joint Military Exercise VINBAX-2018 was held. / STdeTqR
o, URG-faga=Ta Wged ST 3T VINBAX-2018 &1 GpRUT aoTd fopaT war Ut

1. Second / q&x1

2. Third / TERT

3. Fourth / 3T

4. First / 9YH
Correct Answer :-
o First / UYH

4) Who out of the following had won the Lata Mangeshkar Award 2017 of Madhya Pradesh? / fRufaf@d & @ feaa wen
TSR & T HADBR YREBR 2017 SHar U1?

1. Alka Yagnik / 3feeoT O
2. Sonu Nigam / ?haﬁmtr



3. Arijit Singh / 3iitshid Rig
4. Shreya Ghoshal / AT DT

Correct Answer :-

« Alka Yagnik / 3feehT A1i®

5) Which of the following is/are produced by the forests of Madhya Pradesh? / o o | B9 T1 IS T YT & STEl
FRT UT T ST 82

1. Both Timber-Bamboo and Tendu Leaf / ¥ al-a9 3R dg U= gl

2. None of these / 370 ¥ ®IS gl
3. Timber-Bamboo / A& al-a1g

4. Tendu Leaf / g Ul

Correct Answer :-

« Both Timber-Bamboo and Tendu Leaf / ThSl-a1d 3R dg U= gl

6) In which district of Madhya Pradesh are the Bateshwar temples situated? / 99 U & Py fora # gegR wfier Ry« %'?
1. Gwalior / TaTfeRR

2. Morena / Eﬁ‘rﬂ
3. Hoshangabad / 81RIITETG
4. Bhopal / ¥oTd

Correct Answer :-

* Morena / Hi‘rﬂ

7) In which year had the Panna National Park bagged the Award of Excellence from the Ministry of Tourism,

Government of India? / WRd TSR F Te AT ¥ IPTAT T REGR TAT AEH I 7 fvw adf & wre e um?
1.2005
2.2008
3.2007

4. 2006

Correct Answer :-

. 2007

8) In which year was the Kala Parishad established in Bhopal? / yiure ® war ufvwe fora ara wifa 'g"s: DiFd
1. 1952

2.1950

3.1953

4. 1951

Correct Answer :-

« 1952



9) In which year was the Tulsi Award of Madhya Pradesh founded? / Wt YR &1 gorell [R¥BR b adf & witfia gam ur?
1.1982-83
2.1981-82
3.1983-84
4.1984-85

Correct Answer :-
« 1983-84

10) The Tansen Samaroh of Madhya Pradesh is held in the district of — / A1 USRT & a-a GHRIE IEGE:
rafora faar imar 8-

1. Gwalior / aTferaR
2. Morena / AT
3. Rewa / Har

4. Betul / 9@

Correct Answer :-

« Gwalior / TaTferaR

11) If ASSIGN is coded as SASING, then KIDNAP is coded as:/df¢ ASSIGN &I SASING $fed faar
STaT 8, 9 KIDNAP &Y $fed s

1. IKAPDN
2. IKDNPA
3. IKDNAP
4. IKNDPA
Correct Answer :-
« IKDNPA

12) Pointing to a photograph, a person tells his friend “She is the granddaughter of the elder
brother of my father”. How is the girl in the photograph related to this person?/@ﬂ'\‘ﬁ'\’ F 3R
SYRT $Yd §Y, Th AR 304 3 B TaTaT € "Ue aea! WX a1 & 98 uiE 5t Ot g1 R # guiidt mht
dASH! I fed A FA TG 82

1. Maternal Aunt/II'I"-:ﬁ
2. Paternal Aunt/il'liﬁ
3. Niece/Hisil/Hdteit

4, Sister/dgH

Correct Answer :-

« Niece/Hisl/Hdtoit

13) How many triangles are there in the following figure? /<% en?ﬁr ¥ fraq ﬁﬁ\‘rr &2



1. None of these/ﬁﬁ@ﬁ%:@'
2.12
3.10

4.9

Correct Answer :-

« None of these/39H ¥ ®Is gl

14) Choose the appropriate combination of signs to solve the following expression./ﬁﬁ! el

P g I & ¢ TPbdl BT IuYad T g1

16 *8*x1*8
1L.-+ =
2.+ - =
3.+ = -
4.= - +

15) At present, the ratio of the ages of Maya and Chhaya is 6 : 5 respectively and fifteen years
from now, the ratio will get changed to 9 : 8 respectively. Maya’s present age is? /ada= o wrn
3R BTT B 3R BT SAJUTA HURM: 6 : 5 8 3R 15 T UYTd I8 Ut HHT: 9 : 8 W ufvafela &) wrdwm| urar #
U Y T 3?2

1. 30 years/30 ¥
2. 24 years/ 24 CLY
3.21 years/ 21 ¥

4. 40 years/40 ¥

Correct Answer :-
« 30 years/30 a§

16) If M is in the south of B and B is in the west of N, then in which direction is N from M?/3f¢

M, BPRRUTARIRB, NFURHAL AN, MAPafemag?
1. North—East/GT-l\T'IT-Q\Tzit

2. North/3ddR

3. South-East/f01-qd

4. East/qd

Correct Answer :-



. North-East/Ga\ai-q;éf

17) In a journey of 260 km, a train covers the distance 140 km at the speed of 50 Kmph and
the remaining distance at 80 kmph. Find the average speed of train for the whole journey./

260 it 3t T 9 § Tw o9 140 5 3t gt 50 e ufa 62 3t wfa @ aur Aw gt 8o frft o e Ftafa
T H 81 Tl g A 29 F 3fia i wa e

1. 66.465 kmph/66.465 & Ufd geT
2. 69.465 kmph/69.465 f&H! Ufd ger
3.60.465 kmph/60.465 f&t ufd der
4. 63.465 kmph/63.465 f&Hl Ufd ger

Correct Answer :-
« 60.465 kmph/60.465 faHt ufd ger

18) The diameter of a circle is equal to the perimeter of a square whose area is 3136 sq. cms.
What is the circumference of the circle?/ T g< $T UTH TH 1 & URUTY & IR1aR 8, RryeT awa
3136 o At 31 gu P uRefr 7 82

1. 352 cm/352 I+t
2.394.24 ¢cm/394.24 IHt
3. 704 cm/704 IHt

4. Cannot be determined/3Td gl {1 o Gbar &

Correct Answer :-
« 704 cm/704 I

19) The sum of the present ages of a father and his son is 45 years. Five years ago, the
product of their ages was 34. The present ages of the son and the father are respectively. (in

years)/ T% far 3R 39S T3 &1 9dHH 31g &1 AN 45 99 31 UTa 99 d IS} 31 BT UGS 34 4TI fUar iR
TF $ qad g HU: (THH) &

1.11 and 34/11 3R 34
2.7 and 38/7 3R 38
3.6 and 39/6 3R 39
4.9 and 36/9 3R 36

Correct Answer :-
.« 6 and 39/6 3R 39

20) If A is 30% more efficient than B, B is 20% more efficient than C, C is 10% less efficient
than D, then the efficiency ratio of A, B, C and D are respectively:-/ afgA Pt Brderar B A 30%
3ifire B, B Tt Srfermar ¢ ¥ 20% 34w 8, C F Hriemar D | 10% FHE, @ A,B,C 3R D &) Srigmar HH:
&

1.370:281:225:250
2.351:270:250:225
3.351:270:225:250



4,125:100:120 :90

Correct Answer :-

« 351:270:225:250

21) DIRECTIONS: In each of the following questions, a series of figures are given. Select from
amongst the alternatives one set of groups into which the figures can be classified./ﬁ%f!lT:ﬁ'H

wy ®, srpfaal &Y ue yaan & wht B ifdwed § @ wHEl & Ue quey &1 9gq o oA snpfaal 3t aiffga
foar 51 Twar g1

Pl Q| CESSG | O18 [K)

y (2} &) (4) ) L m (8) o

1.6,1,4; 2,9,3;,5,7,8
2.8,2,5;7,4,3; 9,1,6
3.6,54;9,3,7; 2,1,8
4.54,9;1,6,7; 2,8,3
Correct Answer :-

- 8,2,5;7,4,3,9,1,6

22) DIRECTIONS: Find the missing term in the given matrix./ fAd=r: & n-éﬁiéw o gud Idan 9
Gadl

12|5 |60
137 |?

1.91
2.88
3.96

4. 50

Correct Answer :-

23) DIRECTIONS: Find the related group of letters from the given alternatives./ fAdar: fow e
faweul & @ H&fRra srert o1 A9 J19 B

AfMV :VMfA :: ? : AfQP

1. AQPf

2. AfQP

3. PQfA

4. APQf

Correct Answer :-



24) DIRECTIONS: Find the related number from the given alternatives./fd%: fou e faeeal #9
Heftra HEIT 1 HY

4:65::?:126

1.6

2.5

3.7

4.8

Correct Answer :-

25) DIRECTIONS: Solve the number series given below./ﬁ'&QT: J= & 1T§ @ Al B g B
10, 30, 120, ?, 3600

1. 1800

2. 600

3.1200

4. 2400

Correct Answer :-

« 600

26) DIRECTIONS: Solve the number series given below./fExr: #R & 718 T Al & ga@ #31
6,5,7,6,8,?

1.6

2.5

3.7

4.8

Correct Answer :-

27) What is the smallest sum of money which contains Rs.2.50, Rs.20, Rs.1.20 and Rs.7.50?/
T DI AR FIA Y, ST 2.50, ¥ 20, T 1.20 3R T 7.50 I Aad a181?

1. Rs.60/% 60
2. Rs.50/% 50
3. Rs.40/% 40

4.Rs.70/% 70

Correct Answer :-

» Rs.60/% 60



The day before yesterday was Sunday. What will be the day after tomorrow?/d1d B¢ Pd F TP
31 g &1 fom AR uT| oM+ A Fa & q1g aran &7 T ghme?

1. Monday/?ﬁTIH'R
2. Thursday/TR=dR
3. Saturday/=FaR
4. Friday/[shdR

Correct Answer :-

o Thursday/TR=dR

29) If the income tax is increased by 19% the net income is reduced by 1%. The rate of

income tax is:/af¢ MBI H 19% 1 gfF 7Y, N Y SMAH 1% F1 FH S AN 3| AP B X 8-
1.7.2%

2. 5%

3. 4%

4. 6%

Correct Answer :-
« 5%

30) The rates of working of Ram and Pawan are in the ratio of 8:5. The number of days taken
by them to finish the work are in the ratio:/ W&ﬁ?W%WWEﬁRWGﬁ{WS:S %I F%Q'RT
P FUTE H | fore e o1 Y w=n &1 SrguTd ghm:

1.8:7
2.13:8
3.13:5
4.5:8

Correct Answer :-

31) The simple interest earned on a sum of money after 10 years at the rate of 5% per annum
was half of the sum. What was the sum?/ T& 01 IR 5% a1f® saTs 1 g3 I 10 T BT AR ST
IFRT BT 3T 1 R [ FW |

1. 210,000
2. 720,000

3.312,000
4. Data insufficient/\?rﬁﬁ. SEITﬁ'E[%‘

Correct Answer :-

o Data insufﬁcient/&ﬁaﬁ, afe

32) Seven kids V, I, B, G, Y, O and R are standing in a row during a sports meets. Y is to the
immediate left of I. V is to the left of B but not between B and I. Exactly four kids are standing



between B and I. If V and G have two kids between them, how many kids do O and R have
between them?/ddERA V, I, B, G, Y, O 3R R T Wd & SR U Ul A @S &1 Y, I & Rvcan s 81
VBFIUEWRGBAUTI ST eI IRTRAB aUTI F Sl Sad @S g1 ale v aurGc Fflata= 81 0 aur
R & dufra s g?

1.0
2.1
3.2
4.3

Correct Answer :-

33) The average age of a group of men is increased by 5 years when a person aged 18 years is
replaced by a new person of aged 38 years. How many men are there in the group?/E’ﬂﬁ%Qﬂi

T Ft 3ad 3mg 5 a9 A 9¢ A 2, 79 18 ¢ & U qufcdd & YU W 38 I¥ &1 U =11 qafe omar 3| 9gg |
fraq e 82

1.3
2.6
3.4

4.5

Correct Answer :-
e 4

34) In a three-digit number the digit at its hundred’s place is two times the digit at the unit’s
place and the sum of the digits is 18. If the digits are reversed, the number is reduced by 396.
The difference of hundred’s and ten’s digit of the number is? /T® X-3FT TBIT & AP PT 3P SHIS
% 3P BT Gl T[T @ 3R 3T P! BT ART 18 B TS 3P| H1 Ieie a1 1A, df T=A1 396 A FH & A 81 GBI &
AFS 3R TgTs b 3P| BT AR FTR:

1.3

2.2

3.5

4.1

Correct Answer :-

35) 8 liters wine are drawn from a cask full of wine and is then filled with water. This
operation is performed three more times. The ratio of the quantity of wine now left in cask to
that of the water is 16:65. How much wine did the cask hold initially?/ IR q WX L TH TAT A A
8 ciiex IRTT FwTem TaT MR I/ [: 9Ie | HRT 74711 39 Uihar &1 9 IR 3R Sexman Tm| 39 gd+ # A9 IR
3R o1t BT 3FUTT 16:65 B 1 URYH # g # IRTT @ fpa-it arn sufRua diz

1. 24 liters/24 e
2. 18 liters/18 @R
3. 42 liters/42 dreY

4. 32 liters/32 e



Correct Answer :-

e 24 liters/24 qe

36) CANCELLED

C, BASIC, COBOL, and Java are examples of languages. / ?ﬁ, aﬁiﬁ, Hﬁ@ﬁ, 3R SraT
yTT3Ht & ISTER0T &1

1. System programming,/ RIeH T
2. Low-level/ FE &R

3. High-level / 3 &R

4. Computer/ dHHR

Correct Answer :-

» High-level / 3= ¥R

) CANCELLED

Which of the following events will not traverse the slide in a slideshow?/ fFgfefad # @ 1=

U TP TS A WIS & 1S e 3maiii?
1. Enter/return key press / Tex/Re ol gamT
2. Arrow key press / TRl $oft G

3. ESC key press/ T&hU goit &l

4. Mouse button/ HISH §cq

Correct Answer :-

« ESC key press/ U0 il GaHT

38) An example of value inside the Name box of an Excel sheet is:/ TRd e & Arifed aieq
F 3R YT BT TP IaTeI0T 8

1. $12%A
2.11B
3.1112

4.B22

Correct Answer :-

« B22

39) From the given alternatives select the word which cannot be formed using the letter of the

given word: /3T T faswel & A I eg &1 T4 Y O AT T Wsg & quf T I Fds LY ST W qHar|
RECREATIONAL

1. HECTARE

2. TORN

3. RECREATION



4, RATION

Correct Answer :-

« HECTARE

40) Full Form of NIC?/ TH.3(T3.3f. &1 qRT 919 &:
1. None of the above/ STWRIad | ¥ P1s Ta!

2. New Internal Command/ 3 $c3d HHIS

3. New Internet Connection/ qs?ﬁa RGN

4. Network Interface Card/ Scdd $cXbhy Bls

Correct Answer :-

« Network Interface Card/ Scdd ety Hls

41) Which of the following is used for close a tab of a browser? /{8 & ¥ P11 IR W IR T 't 4 FA
fore Suarh &:

1. Ctrl + A

2.Ctrl +Y

3.Crl + T

4, Ctrl + W

Correct Answer :-

o Ctrl+W

42) What is full form of USB?/gud} (USB) ST URT ATH &1 22
1. Universal serial bus/g=tasid iad a9
2. Universal Smart Bus/ﬂjﬂa?fﬂ e 99

3. Unicoded Smart Bus/gHHISS TTE a9
4. Unicoded serial bus/giiiss Hiad a9

Correct Answer :-

« Universal serial bus/g=tadid Sikad a9
43) What type of device is keyboard?/ Flars fFg yeR ) fEagy 2

1. Memory/ ot

2. Storage/ TRl
3. Output/ 3{13<cYc
4. Input/ 1Yc

Correct Answer :-

o Input/ 37YcC



DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You have to
take the given statements to be true even if they seem to be at variance from commonly known facts. Read the
conclusions and then decide which of the given conclusions logically follows from the given

statements./ 31 R 33 7T vy &, $© FY7 ok 3uF A $o Frepd faw 7w B 1 syt Ry T wy= @ W AT
3, a3 wdgma aat A fim welta 811 et 31 ufen sik fiiy o Fifvie fs wia-wn fred faw o syt &1 adbwia
FY QY FHVT T 2

Some balls are trees./$9 ﬂ% ﬂ%’ %'I

Some stars are trees./$9 R 1}3 ?'I

Some ovens are stars./$9 i@ R ?'I
Conclusions:/ﬁﬁﬂf:

I. Some balls are stars./ﬁﬁ?ﬂﬁ%l

I1. Some ovens are trees./$9 ﬂﬁ»‘ s gl

III. Some ovens are balls./$® I g gl

IV. All trees are balls./3 U3 712 |

1. Only I and II follows/&ad I 3R 1T IR B &
2. Only II follows/%dd 11 3IERUI HT §

3.0Only II and III foIIows/aTcl?f 11 3R III G@WW%
4. None follows/®18 3IERUT gl Bl

Correct Answer :-

. None follows/®1s ST gl Bl

45) F qAATE :

LT R T H AT
2. S 3R o & AT Y
TR T F AT Y
4T AR T FATY

Correct Answer :-

. QAR T H AT

N

46) J HIIARVT VAT :
1. 3y

2.dlqg
3.d
4.5

Correct Answer :-



47) 3y ST UTII TG TST &
. e

2.89

3.3'53@#3:[

4.fﬂTrﬁ

Correct Answer :-

a8) T FT AT T 3
1. dcy

2. ST

3. YUl

2. FRYfa

Correct Answer :-

49) fEg W gaa: frg U HT 7
1. PRE!

2. Il

3. f&dt

4. T&pd

Correct Answer :-

50) -4 fAPea A G T Y5 & :
1. TRY-UIoy

2. ?.ﬁTdT-aﬁFﬂ

3. gfe-get

4. PIR-PIR

Correct Answer :-

. PIR-HI

s1) f§< TRy & sfoer & siarfa <daq 1375-1700° THA-HT e



1. Jd DT Dl
z.mﬁ
3. 3R HHBTA DI

4. SMYFTBDTA BT

Correct Answer :-

. Jd HEDTA B

52) Ffafaa A adt sy 8

1. 3 7 31 fRTal & i g GHTUT Y g HEd ol
2. FaTG] B HTNT A 3R STHRURH giet g |

3. garg ford i 8k el 81 &, I 81 3Mhye 8 5
4. FdTg URUNTe® g A1 |

Correct Answer :-

. 3 1 3 il &b s gT HHIUT Y HaTe Ped 3
53) famfefad & afd fAdueR & -

1. faenfaarg Ay

26‘\?@@3@3—&9{

3. 3ad gt

4. PORATY I

Correct Answer :-

. 3ad g4t

54) FRffa A s g 3
R ELE]
2. <Y
3. T
4. 3

Correct Answer :-

. 3

55) Frafafea 3 i = 3 :
1. dllp



2.“€IFIT§
3. Uk
4. TeR

Correct Answer :-

56) faHifdrd & ‘UTaaTa® [T HTISEUIE
1. YISt

z.ﬁﬁﬂ

3.\r_0ﬂT*ITJI@

4. g4I

Correct Answer :-

57) Prgifed & YR TR 2 -
1. 38

2.9d

3. [T

4. dgMH

Correct Answer :-

58) g faudtarde 2regl & Fa o 3 -
1. 3R g

2%@@@%%’5’

3. 3UfaRH forg

4. IS Torg

Correct Answer :-

. gioie g

59) 39 f & forg 9 fEdt ad-it 2
1. ST
2. 3y



3. 3AdTEg
4.ﬂf_v|'IT“ﬂﬂ

Correct Answer :-

60) A DC generator is based on the principle of - /T& fete YRT wIf 7 39 Ry W smenia ?:-
1. Magnetic effect of current / 4RI &1 DG GHTT

2. Electromagnetic induction /ﬁgﬂﬂﬂ'@ﬁﬁﬁﬁw

3. Heating effect of current / YRT & 3G GHTT

4. Energy dissipation / &l Uy

Correct Answer :-

« Electromagnetic induction / f[dgad g® 1 URUT

61) A good fuel is one which possesses:/wmﬁﬂqﬁ%, IEGED]
1. Both the above /IWRIad giHI

2. Moderate ignition temperature /3N9d Saei dTd &1

3. High calorific value /33 Rl AF &

4. High ignition temperature / 3T Sa@ aTd g1

Correct Answer :-

« Both the above /IWRIad gl

62) What is the population density of Madhya Pradesh as per the Census 2011? / S0 2011
F TR U YN B FHST T-Tcd FIT 82

1. 220
2.228
3.242
4. 236

Correct Answer :-

« 236

63) A trader sells two brands of petrol; one is Ordinary unleaded (OU) and other one is Super
unleaded (SU). He mixes 12 liters of SU with 3 liters of OU and by selling this mixture at the
price of SU he gets the profit of 9.09%. If the price of SU be ¥48 per liter, then the price of OU
is:/ TP SATURY Q) 91 &1 USIe SdT 8, TP AR W1 IR (0U) SR goRT Jur I 3Ifed (SU) 1 ST SU F 12
AR 310U’ F 3 diex A i forar| fryor &) SU & o0 IR 99+ T I 9.09% HT AU a1 81 af SU FTT
248 ufa fiex }, 9 ou F1ufd fer geu 7

1. 38 per litre/3I38 Tfd @
2. 328 per litre/328 Ufd TR
3. 342 per litre/342 Ufd Tex



4. 335 per litre/335 Ufd @ex

Correct Answer :-
. 328 per litre/228 Ufd diex

64) Two resistances of 1Q and 2Q are connected in series and then in parallel. The ratio of the
effective resistance of series and parallel combination of resistances is:/ﬁuﬁﬁ%ﬁaﬁ, 1A g
2 3 B, I U AR, 91¢ | JHHATGR B & ST 16T 8 1 3% Avft 3R JuiaR T F guTd wferTen 1
SUTd RT: -

1.9:2
2.2:9
3.3:1

4.1:2

Correct Answer :-
¢« 9:2

65) The languages of computers very closely resembles human speech. /%% R

Cd| YTYT 3Tt 3t Sierara A 95 frad! Jadt g1
1. Fourth generation/=aft diet

2. Natural languages / UIdfdd UTSTY

3. High level / I TR DI

4. Low level / G TR &t

Correct Answer :-

« Natural languages / U HTSTT

66) The group number and period humber respectively of an element with atomic humber 8

is: /% dcd, OrI®T R YR 8 §, ST 3MTad IS 3R T HHIH gIm:-
1.16, 2

2.16, 4

3.6, 2

4.6, 8

Correct Answer :-

. 16,2

67) User can keep personal files/folders in GUI operating systems at / IuERTHat
Sgang s Rea & % foell wigal / wies?) @) v@ Jaar gl

1. My Files/ AT BIgcH
2. My Documents/ A Sl&HCH
3. My Computer/ AT X

4. My Folder / A0 BIER



Correct Answer :-

« My Documents/ A1 Si&HCH

68) In the following equation:- Na,CO3 + xHcl — 2Nacl + CO, + H5,0, the value of x is: /

frfafae Tarafae afieor & x #1919 8:- NayC05 + xHcl — 2Nacl + CO, + H,0,

1.3
2.2
3.1

4.4

Correct Answer :-

69) In the given sentence there might be an error. Find out which part of the sentence has an
error: If there is no error, mark your answer as (d) i.e. ‘No error’.

The committee decided (a)/ the matter without (b)/ leave his seats. (c)/ No Error (d)
1. (b)
2. (d)
3. (a)
4. (c)

Correct Answer :-

70) In the given sentence there might be an error. Find out which part of the sentence has an
error: If there is no error, mark your answer as (d) i.e. ‘No error’.

There are on the committee (a)/ among others (b)/ a great economist and a great lawyer.
(c)/ No Error (d)

1. (b)
2.(d)
3. (a)
4. (c)

Correct Answer :-

71) RTF stands for/ 3RTE HT AT GiaT gl
1. Readable Text Format/ S3ed eae Bife

2. Rich Transfer Format/ @ giawR wide
3. Rich Text Format/ & e wide
4. Rich Text Field / @ ¢FRe Wi



Correct Answer :-

« Rich Text Format/ @ ¢ae Bife

72) Plaster of paris is obtained: /"R 3T AR UTe fohaT ST @:-

1. By adding water to calcium sulphate /WRTH Tehe § od ST IR

2. By adding sulphuric acid to calcium hydroxide /mm@ﬁm 3 o 9
3. By heating gypsum to a very high temperature/ﬁltﬂﬂﬁﬁmq?ﬁaﬂﬁﬁ
4. By heating gypsum to 120°C./ STq &1 120°C R TH A T

Correct Answer :-

« By heating gypsum to 120°C./ fST&qH &1 120°C R TH B

73) Term “ecosystem” was coined by -/"Eﬂﬁﬁl'\‘?q" ﬁ)‘\‘ﬁm-

1. Darwin/@Tﬁ:[

2. HuxIey/E?El@f

3. Tansley/?ﬂtlﬁ

4. Mobius/AfeTg

Correct Answer :-

. Tansley/?ﬂ:I@

74) An object is placed at the centre of curvature of concave mirror. The distance between its

image and the pole is:/T® a%] 3@dd GUUI & ahdl b5 UR TW g1 81 9P Yd IR wfafara & &g 31 glh:-
1. Equal to f /f % SRISR B

2. Equal to 2f/2f & SR&R g |

3. Greater than 2f /2f T &8 gR1TI

4. Between f and 2f/f 3R 2f & &= grift

Correct Answer :-

. Equal to 2f/2f & SRIeR ghft|

75) If a tall plant is crossed with a dwarf plant, this type of cross is caIIed:/HﬁQﬁ?WlﬂﬂT, I
T & ATY HT HAT 3, O 37 UPR BT BT HgaATdl 8-

1. Reciprocal/gfddd

2. Trihybrid/BEex

3. Monohybrid/Td® &R
4. Dihybrid /g
Correct Answer :-

« Monohybrid/Td JhHR



76) An element ‘X’ form an oxide XO,, which is a very useful gas used in photosynthesis
process The element is :/T® dd "X’ TS ATFITSS X0, FTAT 8, il fob T ag3uaif A9 8 4T UHT=T WRATOT
AU dgdd @ -

1. Phosphorus/ww
2. Nitrogen/H ééAIGH
3. Carbon/ﬂﬂ'«ﬁ

4. Sulphur/deh

Correct Answer :-

. Carbon/&TeH

77) Which of the following organisms does not depend on reproduction to exchange genetic

material: /fAfafaa & & $19 31 ofta yor & R srqaifkie anmft & e yer wR Ak 98 Har 2-
1. Lion/Rig

2. Bacterium/ SadiRad

3. Cockroach/®Iexd

4. Papaya/qdldr

Correct Answer :-

. Bacterium/ S&IRTH

78) Which of the following tourist places is/are there in Gwalior? / wqrferaR ® fRafafaa wleq wa
P ATE?

1. Jai Vilas Palace / 519 fdemg #gd

2. Both Gujari Mahal Museum and Jai Vilas Mahal / ToR! Aigd YUgTad 3R o1 faamy 7gd gl
3. Gujari Mahal Museum / TR Hgd WG

4. None of these / STH 9 ®Is gl

Correct Answer :-
« Both Gujari Mahal Museum and Jai Vilas Mahal / ToR} Hgd UG 3R 1T faar Agd gt

79) Which of the following is NOT a Memory Devices Manufacturing Organization:/ Fafafea &
B AR} feargw fafwfor wmew 7t &:

1. Samsung Corporation/w PHIORTA

2. Elpida Memory/ TfeusT BART

3. SanDisk Corporation / SIS HIURTA
4. None of the above/ SWRiad H A &I Tl

Correct Answer :-

« None of the above/ SWRIad & ¥ HIg Tal

80) Which of the following is NOT a memory device?/ Fafefad # @ $19 te A9 fearsy 16t 82



1. Magnetic tape/ e ¢
2. USB / guqs!

3. Hard Disk / 8T8 &%

4. Floppy disk / o fewen

Correct Answer :-

. USB / guyd

81) Which of the following is true regarding documentation?/SI&He (G&de) & IR ¥ Fafafaa &
AP R?

1. It may contain written information/ 39% fafad STeR! 81 Tl &
2. All of the above/ JWRiad T+t

3. Programmers can know how to maintain the program/mwﬁaﬁﬂgﬂﬂm%%maﬁﬁm
RLCIREIY

4. Users can learn how to use the program/ SUdNTeGd g Tebd & b UIUTH &1 4 ITINT

Correct Answer :-

« All of the above/ SWRidd qaft

82) Which of the following is not a salivary gland:- /Frafefaa & ¥ wiah ar dfy T8 R
1. Submanillary /SeRfAad

2. Lacrymal /@Wﬁ

3. Parotid/IRIfes

4. Sublingual /gafdaa

Correct Answer :-

» Lacrymal /@W

83) Which of these e-commerce systems handle non-monetary documents?/ Eﬂ'ﬁﬁﬁ'—léiﬁ'ﬁﬁ
It yonferarl R-AfEew g &Y GuTerdt 82

1. EFTS
2. SWIFT
3. None of the above/ SWRIad § 4 PIs g!

4, EDI

Correct Answer :-

« EDI

84) Which of these words can be used as both verb and noun?
1. Annoy
2. Ascertain

3. Encourage



4. Auction

Correct Answer :-
« Auction

85) The refractive index of glass is 3/2. Velocity of light in glass would be-/®Td &1 UqdD
TADTP 3/2 8| BT BT H1g H AT gHI:-

1.2 x108 ms!
2.1.33 x 108 ms™!
3.108 ms1
4.3x108 ms1
Correct Answer :-

« 2x108 ms!

86) Sentences given with blanks to be filled in with an appropriate word(s). Four alternatives
are suggested. Choose the correct alternative out of the four.

The sun, rays give life to the earth, is regarded by people as a god.
1. those, any

2. whom, one’s

3. who, none

4. whose, some

Correct Answer :-

« whose, some

87) In which year was the recent Forest Policy of Madhya Pradesh approved? / e YR 1 g1l ot
# o1 i fow arer wifva g€ 4z

1. 2002
2. 2005
3.2004
4. 2003
Correct Answer :-
- 2005

88) Carbon forms a large number of organic compounds due to-ﬁb‘lﬂ?ﬁgﬁ'@ﬁwﬁﬁ!ﬁﬁﬁ
AT 7, RSP -

1. Tendency to form multiple bonds /3TH Tg&Y T BI & §
2. All of these / T qaft
3. Isomerism /HHIGIAdI

4. Catenation /39% 4 §



Correct Answer :-

. All of these / T g4t

89) A sentence with an underlined idiomatic expression is given. What is the meaning of the
idiomatic expression ‘cloud on the horizon’ in the sentence given below?

The only cloud on the horizon is the physics exam in June.

1. something that threatens to cause problems or unhappiness in the future
2. None of the above

3. the easiest and the most attractive of all options

4. an opportunity to get the best of all available options

Correct Answer :-

- something that threatens to cause problems or unhappiness in the future

90) The Madhya Pradesh MLA Ram Singh Yadav had passed away recently. Which party did he
belong to? / U WX & fauras I Rig arga &1 g1e 81 # = 81 mar o) a8 fPa urdf & 42

1. Samajwadi Party / JHTSTare) et

2. Congress / HEN

3. Bahujan Samaj Party / EEGHWEIT&
4. BIP / soidt

Correct Answer :-
« Congress / &9

91) The first Chief Minister of undivided Madhya Pradesh was - / fqHIfod A0S & Ugd gEwA
-

1. Dwarka Prasad Mishra / gR&T UG fHem
2. Pt. Ravishankar Shukla / U. =R gadl
3. Bhagwantrao Mandloi / HTddRId Hedls

4. Kailash Nath Katju / SelT=T =Y Hles]

Correct Answer :-

« Pt. Ravishankar Shukla / U. Jfa=ieR el

92) A Sentence is given with blanks to be filled in with appropriate words. Four alternatives
are suggested. Choose the correct alternative out of the four.

There is evidence that cars have a effect on the environment.
1.ample, far

2. abundant, harmful

3. least, allow

4. scarce, limit



Correct Answer :-

« abundant, harmful

93) If the under given alphabets are arranged in proper sequence we get the name of a well-
recognized as per the Standard English vocabulary.

[P,MCIS,U,C, A]
1. Country

2. Costume

3. Currency

4. VVegetable

Correct Answer :-
« Vegetable

94) A, B and C start a partnership. A invests certain sum, B invests the double of amount
invested by A after 6 months and C invests three times the amount invested by A after 8
months. What will be C’s share, if the profit is ¥ 27,000 at the end of the year?/ A, B 3R C 3y
B TP AR ATH HRd B 1 A 3RPY B $ AR AT #ar 3| B, 6 WA a1g A A g Yol s srar @ i C,
8 WA a1g A FT i T[T Yoit fHawr ®ear 81 afe af & 3ia & T 27,000 T ATH 81, & C BT ATH FId PIoQ|

1.39,002
2.39,000
3.39,820
4.%9,287

Correct Answer :-

95) Name the plant hormone which is termed growth inhibitor:/q&[FTHﬁ\'rﬁﬁ?“q@ SARIYH"
P 8:-

1. Gibberellin / faReiH

2. Auxin /3fifaq

3. Ethylene / gtﬁﬁﬂ

4. Abscisic acid/ TaRiRie® s

Correct Answer :-
« Abscisic acid/ TaRiRi® 30

96) In question given below, a part of the sentence is bold and underlined. Below are given
alternatives to the bold part which may improve the sentence. Choose the correct alternative.
In case no improvement is needed, mark option ‘D’ as the answer.

There is no period in ancient-Indian history so glorious as that of the Guptas.
1. No improvement

2. as the Gupta’s



3. as the Guptas’

4. as the Guptas

Correct Answer :-

* No improvement

97) In question given below, a part of the sentence is bold and underlined. Below are given
alternatives to the bold part which may improve the sentence. Choose the correct alternative.
In case no improvement is needed, mark option ‘D’ as the answer.

The Jury was divided in their opinions.
1. No improvement

2. is divided

3. are divide

4. were divided

Correct Answer :-

« were divided

98) DIRECTIONS: In the following question, there are six parts marked S1, S6, P, Q, R and S.
The position of S1 and S6 are fixed. Some parts of the sentence have been jumbled up.
Rearrange these parts and choose the proper sequence from the given options.

S1. It was a hot summer day. A lion and a boar reach a small water body for a drink.

P. Soon they realize that the vultures are waiting for one or both of them to fall, to feast on
them.

Q. They begin arguing and fighting about who should drink first.

R. The lion and the boar then decide that it was best to make up and be friends than fight and
become food for vultures.

S. After a while, they are tired and stop for breath, when they notice vultures above.
S6. They drink the water together and go their ways after.

1. PQRS

2. QSPR

3. SPQR

4. RPQS

Correct Answer :-

99) A person bought an item and sold it at a loss of 5%. If he had bought it for 10% less and
sold it for 170 more, he would have had a profit of 20%, Find the cost price of this item./ T®

TR TP avg Wedl & 3R I/ 5% g1 IR 39a1 21 1S 98 IR 10% FH Yo7 TR Wledl 3R € 170 AP W
ST Al I/ 20% BT ATH AT | TG BT HAY FTd DIog|

1. 1305.69
2.1306.69

3.1307.69



4.1308.69

Correct Answer :-

« 1307.69

100) How many administrative divisions are there of Madhya Pradesh? / AU $ fraa TS GHRT 82
1.11

2.12

3.10

4.13

Correct Answer :-

Topic:- Bio and Fisheries

1) Embryo sac is found in:/Yurdel urft st 81
1. Seed/ds #

2. Embryo/Yur &

3. Ovule/diomo &

4. Endosperm/mﬂﬁ

Correct Answer :-

« Ovule/dSmo &

2) Those scales of fish which are round, thick in the central part and thin at the edges are

called: /A3l & d e il Md, ST HFT A A 74T FHHT HFT H yddl §1d & 3¢ Ped 8-
1. Cosmoid/®THITS

2. Cycloid/qIgHRITS

3. Ganoid/TH1aS

4. Placoid /<& 1IS

Correct Answer :-

« Cycloid/dIgRIgsS

3) In pearl culture, the nacreous layer forms an iridescent substance which is called: / At

e 9 Afrer ud e F1dtw vard aardt & o P 8
1. Cilia/T&mH

2. Mother of pearl/A¥d &1 AT

3. Mantle/Bd

4. Epihelium/ 34l

Correct Answer :-



« Mother of pearl/A¥dt &1 ATaT
4) Cotton belongs to the family:/mmgﬁriﬁmél
1. Malvaceae/mﬁ?ﬁ

2. Ranunculaceae/ﬁﬂ@?ﬂ
3. Compositae/GTIfSTE!

4. Cruciferae/GHih

Correct Answer :-

« Malvaceae/HdTeadt

5) Late blight of potato is caused by?/mqmq%?ﬂmmﬁl
1. Albugo candida/3/eSgT HUSIST

2. Alternaria soIani/GﬁRﬁﬁm@ﬁ:ﬁ

3. Phytopyhora infestans/®TScIHIRT Shec~g

4. Fusarium moniliforme/mﬂﬁﬁm

Correct Answer :-

o Phytopyhora infestans/tﬁlgﬂqﬂﬁﬂs"ﬁﬂ

6) Saliva of cockroach contains-/ mﬂﬂﬂﬁﬂﬁ'ﬁm%-
1. Lipase/ NIECE

2. Amylase/ AR

3. Trypsin/ E@ﬂ?

4. Pepsin/ e

Correct Answer :-

. AmyIase/QﬂT‘a’@fﬂ

7) The process of hypophysation includes: / BSNGISARA &1 ufshar # A ferd 2
1. All of these /3t

2. Selection of breeder/USH®I &1 T

3. Injection/3fa&muy

4. Preparation of pituitary extract/dgy fsHyor =T
Correct Answer :-

« All of these /3t

8) Earthworm repire by-/ a’_g[aﬂ 2T HdT 8-

1. Prostomium/Eﬁ@ﬁlﬂ'ﬁ

2. Clitellum/ SIS CTH



3. Ctenidia/ AFS
4. Moist skin/ 3% &1 gRT

Correct Answer :-

« Moist skin/ 3T &1 gRT

9) Living form of Diponoi is:/%‘Fﬁ?WGﬁﬁHW?:
1. Puntius/qf%&m

2. Neoceratodus/M3iRiRered

3. Cyprinus/“v'l'l'sfm

4. Tilapia/ feemfoman

Correct Answer :-

« Neoceratodus/M3nRRerey

10) The increasing amount of carbon dioxide in the air is slowly raising the temperature of the
atmosphere, because it absorbs:/gdl # ®Ta S5 HTGASS DI Tgal AT R-R, aTaravor &1 9= T
TE1 &, T\ g8 Safd o7 o 8:

1. The ultraviolet part of the solar radiation/ 9R fafesur &7 WRISTH HIT

2. The infrared part of the solar radiation/@? fafeur & 3raRad yIT

3. All the solar radiations/ Tt IR fafe=or

4. The water vapour of the air and retains its heat./ gdl P A 3R B! TH SRBIR Taat %

Correct Answer :-

« The infrared part of the solar radiation/@? fafeur & 3raRad ymT

11) Consider the following statements:/ fFafif@d #y9 W far P

Pheromones are chemicals which help in./ A T @?f % i f LEHEGLH A %I
1. Communication within species./tﬂTﬁl’!ﬁ ¥ Wiar TR #1

2. Marking the territory./ 833[ o) ﬁﬂ%?f e HI

3. Defence mechanism./ Y& #|

Which of the statements given above are correct?/WﬁEWﬁﬁﬁﬁﬁﬂ'ﬂT'\qﬁé?
1.1 and 2/1 3R 2

2.1,2and 3/1, 2 3R 3

3.1and 3/1 3R 3

4.2 and 3/2 3R 3

Correct Answer :-

« 1,2 and 3/1, 23R 3

12) Consider the following statements:/fAUff@a $y= R faR #3:



1. Friedrich Miescher first isolated nucleic acids from pus cells./ sit® iR 3 7{%@ 3 P
HATG | ST fsa|

2. Hershey and Chase showed through experiment that genetic material was DNA and not

protein./8d 3R A9 & YURT A udr Iadn g, fr SAfes amrft Seau & ik md= T8 o4t

3. Meselson and Stahl proved the semi-conservative replication of DNA./ A 3R wE A i1 1Y
¥ Af-p-adiea ez &) wnfaa faan

Which of the statements given above are correct? /W ﬁt{ 1 HYE A G BT AT H’s‘l %?
1.1and 2/ 18R 2

2.1,2and 3/1, 23R 3

3.1 and 3/1 3R 3

4.2 and 3/2 3R 3

Correct Answer :-

« 1,2and 3/1, 23R 3

13) Substances released from the white blood cells in the blood which increase the body

temperature are known as?/ $S Uerd 44 Yo FIRBT & gRT Ia | W1fad frd od & FoTd SR IR &
arshH A gig g STl 8, A uerd g 82

1. Interferons/ $e3hRi~g
2. Transferrins/ @'I@?ﬁi‘:f
3. Pyrogens/ TR

4. Histamines/ fexcrdiy

Correct Answer :-

« Pyrogens/ RIS

14) Coomon weed of fish ponds are: /ATl A6 @1 YTH WIYAAR &:
1. Pistia/fufeean

2. Eichhornia/ TSI

3. All of these /3 @+t

4. Lemna/@ﬂT

Correct Answer :-

« All of these /3 T+t

15) What is the optimum temperature for fishes in an aquarium? /Sasia=ar (rFRan) # vofaal
BT 35 AIIH fpa-T TEa1 82

1. 28°C - 32°C
2.22°C - 30°C
3.18°C - 20°C
4. 26°C - 32°C

Correct Answer :-



« 22°C - 30°C

16) What is an amber:/WﬁﬂT%I
1. A chemical /U XHIA

2. A plant/Us& Uiy

3. Fossil resin/siarRy I

4. Fossil fern/GﬁGTSZHqFT

Correct Answer :-
« Fossil resin/SiarRy I
17) What is the single greatest threat to biodiversity?/ S afafdudr & forg @ T81 @z &1 82

1. Introduced species that compete with or prey on native species/ faa=f yonfaai s <=f venfaal & Try
gforegef FHRdt §

2. Disruption of trophic relationships as more and more prey species become extinct/318/& ¥ 3% RHR
FHRA a1l gemfadl & faqe 89 & A1 ¢ifths Taeft Rl &1 fages

3. Overexploitation of commercially important species/ HEURA® &Y HEE'EI;UT TSIl BT S gle
4. Habitat alteration, fragmentation, and destruction/um a aﬂqﬁﬁ?ﬁ, ﬁ@%ﬁ, 3R faam=r

Correct Answer :-

. Habitat alteration, fragmentation, and destruction/ Wi fad I &1 uRadH, fade, 3R fammr

18) The following are some of the important fishes like Guppy, Platy, Black Molly which are

kept in a: / AR oo gofm ya 8 91 Tufl, @, s At o 3ad 7& wrdl 3:
1. Aquarium/ STaeiid SITel (3Fafad)

2. Glass tank/d9g ¢&

3. None of these/39H 4 ®Is gl

4. Pond/drd

Correct Answer :-

« Aquarium/ STaelid SITaT (3fdafam)

19) The larva of the frog is called:/ WE® & WAl & T HGI ST &2
1. Megot / ATMe

2. Caterpillar / Feftier

3. Pupa / &I

4. Tedpol/ TsUa

Correct Answer :-

. Tedpol/ T8U@

20) Seed habit originated in- /3ot ygfti &1 3ga gam 2|



1. AIgae/l?raTa

2. Bryophyta/wﬂCh‘IEET

3. Pteridophyta/%ﬁ@ﬂv‘lsﬂ
4. Fungi/&®d®

Correct Answer :-

. Pteridophyta/é RV ET

21) Match List I (Human hormone) with List II (Target organ) and select the correct answer
using the code given below the lists: /T I1 (WG M) Gl 1T (A&7 37T & T1Y 3R I & 1 R
T FIs $I &1 SR BT T97 B

List I/t I List II/3a IT

A. Cholecystokinin/ BIfIRCIGT 1. Bone marrow/ & A
B. Erythropoeitin/TRUIsdA 2. Stomach/ Ue
C. Enterogastron/TeRIRE 3. Gall bladder/ fU=m=ra
1.|1A B C

2 1 3
2. 1A B C

1 3 2
a8 |c

3 2 1
4. |A B C

3 1 2
Correct Answer :-
. |A B C

3 1

22) Velamen the spongy tissue is present in: /3R Wt SHae I ST e |
1. Parasitic roots/URsitd SIg

2. Breathing roots/Xdd- olg

3. Tuberous roots/Jda 518

4. Epiphytic roots/31fdrgy oI

Correct Answer :-

« Epiphytic roots/3(ATGY oI

23) R.Q is less than one in the case of:/WWWﬁ?ﬂrﬁﬂT%l

1. Fructose/Whae ™

2. Fats/ddn
3. Glucose/m



4. Organic acids/TAMS 3

Correct Answer :-
« Fats/ddl
24) ‘Competitive exclusion’ refers to:/'uﬁww 3o’ Wﬂ?’#f%l

1. One species managing resources in one way and the other in another way/wmwmﬁwiﬁfaﬁ
TafiId PR & TR GURT GO I 9§

2. Vanishing of all the species from a habitat/ o & Tt yefaal & T 8 S
3. Vanishing of one species from a habitat/ﬁﬂmﬁwwﬁfﬁ_@?rﬁw
4. Struggle between two species/ 3l USTIfadl & e Tos

Correct Answer :-

« Vanishing of one species from a habitat/ Far ¥ T USiIfd &1 e 81 ST

25) In glycolysis, which one of the following is the substrate for the enzyme ‘enolase’?/

AT ufsear §, Fufafed # & o1 91 torsw T & e asge g2
1.1, 3-biphosphoglyceric acid/1, 3-SHIBIcoT R RTD TRIS

2. Fructose 1-6 biphosphate | Widmerg 1—63%55@7_6

3. 3-phosphoglyceraldehyde/3-HIEhITTRRIZEEZS

4. 2-phosphoglyceric acid/2-BIRBRIIRE TS

Correct Answer :-

« 2-phosphoglyceric acid/2-HIRBRAARS TRIS

26) Sharks belong to which Class of Pisces? /2T® fUfiel & f5a aif & sl 82
1. Holocephal/ﬁﬁw

2. TeIeostomi/EcTEﬁGﬁ@Iﬁ

3. Dipnoi/%l?ﬁé

4. Elasmobranchii/SARAISEHTS

Correct Answer :-

« Elasmobranchii/SaRATshTs

27) Hilsa ilisha is an important fish of which of the following?/ fgwar sai=n fAm=fefaa o & fog &t
He@qul Aol 82

1. Fresh water/¥d=g Sl
2. Warm water/3W] Sicl
3. Cold water/Xftd Sfd

4. Brackish water/dRT S

Correct Answer :-

« Brackish water/dRI S



28) Identify the correct order of organization of genetic material (from largest to smallest)./

STIaRIe AR & W16 & L U $I UguH (GaH I8 | GO Bien |

1. Chromosome, genome, nucleotide, gene/ SN, S, gfdadicgs, S
2. Chromosome, gene, genome, nucleotide/ AN, SiH, SiHA, fdadicgs
3. Genome, chromosome, gene, nucleotide/ GﬂT-h'q, RIS ER Gﬁ?, ql%lﬁag—s

4. Gene, chromosome, nucleotide, genome/ S, U, Jfadcss, SiH

Correct Answer :-

« Genome, chromosome, gene, nucleotide/ S, TOREH, SiH, Ffdadicss

29) If we sprinkle common salt on an earthworm, it dies due to:/ If¢ §H ATYRY THS P YL T
fss®d ¢ @l a8 IR ETTm R?

1. Osmotic shock / WW@

2. None of these / T7H 9 ®1s g1

3. Respiratory failure / YRI & IH- 4

4. Closure of pores of skin / @@ & [Bgdg g I

Correct Answer :-

« Osmotic shock / WW@{

30) In the fish liver oil, which other vitamin is present besides vitamin D and vitamin E?/99d

F gpd o | faerf¥s b 3R e E & sramar o ar faefis gar 32
1. Vitamin B/ fde1fem B
2. Vitamin C/ faetfae C
3. Vitamin A/ faeTii A

4. All of these /3 9t

Correct Answer :-

. Vitamin A/ faeTiEA A

31) Xerophytes do not show:/ﬂ??@?.’ﬁsnnaﬁm%l
1. Thorns/av‘i%

2. Large number of stomata/38 &1 31feidh T

3. Chlorophyll /gRaqd®

4. Thick cuticle /HIcI Ffehd

Correct Answer :-
« Large number of stomata/3¥ &1 3 T
32) Cruciform corolla is found in:/FIEGR gAYS UrT wTaT 2|

1. Sunflower/gerqat



2. Pea/HX
3. China rose/T[ggd
4. Radish/dit

Correct Answer :-

« Radish/Tai

33) Verticillaster inflorescence is found in:/mﬁqgwmmmél
1. Leguminosae/mgﬁi

2. Lamiaceae/ aﬁﬁ@ﬁgm

3. Compositae/ BTG Hof

4. Cruciferae/@Ehl @

Correct Answer :-

. Lamiaceae/ﬁﬁlﬂ?ﬁﬁ

34) Which transition is not possible in UV region? /&9 9T YHHU UV &7 # HHa T8 82
LT

2,0 7 0%

3.7 oF

41'1—)11:*

Correct Answer :-

o — a*

35) The breadth of a fish pond should not be more than which of the following?/9&¢l & a1l &1
e FrAferfad # A P sifte T8 iar afee?

1. 65 metres/ 65 Hrex
2. 70 metres/70 ez
3. 60 metres/60 e

4. 50 metres/ 50 HIcx

Correct Answer :-

« 50 metres/ 50 Hicx

36) In IR spectroscopy, the number of vibrations, shown by CO, molecule would be:/ IR

eI H, CO, 3] gRT U&Rid Hu=) i wemn ght:
1.3
2.2
3.1

4.4



Correct Answer :-

« 2

37) Agar- agar is obtained from-/3 R — 3[R UTw foar e 8-
1. Green Algae/gRd Qard

2. Blue green Algae/=d gRd Qard

3. Red Algaeﬁﬂﬁ‘ﬁ?ﬂﬁ

4. Brown algae/ﬂ-l':\f‘aaﬁ

Correct Answer :-
. Red Algae/dTd aTd

38) Fish soap is prepared by using which part of the body of fish? /4cd AIg- A & INR & fd
YRT & ITGNT GIRT I9T4T STl 82

1. Eye/3i@

2. Fin/ T (T9)
3. Skin/@dl

4. Bones/sigdi
Correct Answer :-

« Fin/ fto4 (49)

39) In fish preservation which of the following is a dehydration process?/43dl & ufReur & fig
e & 4 $19 9@ e ufrar 82

1. Drying/¥[&h
2. Freezing/fgtiaxu
3. Storage/dagq

4. Refrigeration /9=iidd

Correct Answer :-

+ Drying/R[%

40) Lichen is symbiotic relationship between Algae and/ A% &1 Hgsila- A9 R frad ST 81
1. Bacteria/Sidrg]

2. Mosses/®Ts

3. Protozoa/WicIaiiaf

4. Fungi/®dd

Correct Answer :-

e Fungi/®ded



41) Which of the following is not microwave active?/gﬂﬁﬁaﬁ?wm“ﬂmﬂﬁé?
1. Hzo

2.CO,
3.50,
4.CO

Correct Answer :-

. CO,

42) Which of the following is not true of a Eukaryotic cell?/ gHRuifes 9a & IR & g A A = a1
T T8 82

1. Membrane bound organelles are present./f3icel RIS e IufRd &

2. Mitochondria contains circular DNA/ HISEI®I0ST H YR f T T T ST §

3. It has 80S type of ribosome present in the mitochondria./ﬁl‘s@ﬁ%m T 80S UHR & IZaTH ﬁ\_rlﬁ g
4. It has 80S type of ribosome present in the cytoplasm./ 9 DB 5 T 80S UHR o Jsaray ﬁﬁlﬁ g

Correct Answer :-

. It has 80S type of ribosome present in the mitochondria./ ATZEIHISAT H 80S UHR & AT HISE &

43) Which of the following element is not necessary for growth./ﬁl’ﬂﬁ’ﬁ:{waﬁq@%ﬁm
TGS 8l 2|

1. Nitrogen/ATgcIoM
2. Potassium/diciRAA
3. Carbon/EFIEh

4. Sodium/dIfEaH

Correct Answer :-

« Sodium/afsaH

44) Which of the following is the smallest RNA /S ¥ 9ad &H 3R.TA.T. HH ATl
1. Chromosomal RNA/SHEHd 3R.TH.T.

2. Ribosomal RNA/IZERIAT 3R.T.T.

3. Transfer RNA/CRIHR 3R.TH.T.

4. Messenger RNA/HHIWR 3R.TH.T.

Correct Answer :-

« Transfer RNA/SRIBR 3R.TA.T.

45) Which of the following factor is a necessary factor for fresh water aquarium

management? /AT A § 19 91 PR W o1y Sdsiaenar (rafan) & udyq & e snawas 82

1. Aeration/drd-



2. Temperature/diqH-
3. All of these /g @it
4. Light/veia

Correct Answer :-

« All of these /3 g}

46) Which of the following is the most important for the growth of children up to age of 14:/

14 99 B IW 9% P A1 HI Uard TR & faera & R sifa smawas 82
1. Vitamin / faeriae

2. Protein / Ui

3. Milk / g

4. Fat / 941

Correct Answer :-

« Protein / I

47) Which of the following is living fossil: /{1 # Siifaq sftarzw g-
1. Selaginella/ﬁl@lﬁﬁ?ﬂ

2. Pinus/4rg—d

3. Cycas/dgey

4. Cedrus/Rrga

Correct Answer :-
o Cycas/digeyd

48) Which one among the following is the most important factor in Speciation?/ FEfaf@a & d

B 1 T TNRITIA (weirdie<or ) $1 Agaqul SRS 82
1. Geographic isolation/ HITfeie 3reTa

2. Ecological isolation/ GTRRUfd®! reTa

3. Ethological isolation /éiﬁﬁﬁﬂﬁw

4. Reproductive isolation/ Us-- 3T d

Correct Answer :-
« Reproductive isolation/ UsH- 3cfid

49) Which one among the following undertakes the longest migration?/ fFufafaa & @ DI AT
I 9T YA Bl 82

1. Arctic tern/ 3mhfed o
2. Pelican/ﬁlﬁiﬁ

3. Painted stork/Ucs
4. Flamingo/tlﬁﬁ"ﬁ



Correct Answer :-

. Arctic tern/ 3dbfe®d e

50) Which one of the following sets is of ectodermal derivative?/ﬁ'ﬂﬁﬁﬁ?ﬁ@@?t{ﬂiﬁﬁﬁ
IUA §?

1. Heart, eye, dentine, skeleton/ f&d, 3@, dd=, Had

2. Brain, spinal cord, liver, pancreas/ﬂf@lﬁﬁ, ff‘éﬁ%@, gohd, AARY

3. Brain, spinal cord, pituitary, pineal/ﬂ’@ﬁb‘, ﬁ%ﬁ@, W, SIEC]
4. Brain, spinal cord, pituitary, thyroid/ ARTs®, ¢ 1 g3, Ucgest, YRGS

Correct Answer :-

« Brain, spinal cord, pituitary, pineal/ Af&Ts®, g &1 g8, Uegedl, difaa
51) Synergids are: /g HIRHT gl 21

1. Haploid/3RfOrd

2. Triploid/fBTford

3. Diploid/ fgifora

4, Tetraploid/ﬂ'g,’ljﬁlﬁ

Correct Answer :-

« Haploid/ 3RO

52) Branchiomycoses disease affects which part of the body of a fish?/ aﬁmﬁnﬁaﬁﬁvm
Furt voeht & IR F fFa ynT B yurfya s 82

1. Fins/ 4@

2. Eyes/ 3

3. Lungs/pWp Y
4. Gills/&diH

Correct Answer :-

. Gills/&IH
53) Bacteria was first discovered by?/SIdIU] &1 GdUYH G Pi-
1. Louis Pasteur/Jgd UR=R

2. Rober Koch/&R &1

3. A.V. Leeuwenhoek /U. &1, TagI®
4. Robert Hooke/?léé B8P

Correct Answer :-

« A.V. Leeuwenhoek /Ef.o_eﬁ. ?@'ﬁyﬁ?



54) Urea-formaldehyde resin is an example of:/m-mf%ﬁﬁg%ﬁrﬁmmm%:
1. Homopolymer/dHdgdsh

2. Addition polymerization/?ﬂww

3. Condensation polymerization/¥9=- Sgcid

4. None of these/?ﬁ@[ﬂﬁgﬁ

Correct Answer :-

. Condensation polymerization/J49-- dgd®

55) Which states benefit from the river Narmada? /e 7d & $19 @ 759 aruf=a g1a 82
1. Tamilnadu and Karnataka/afiierg iR ®icd

2. West Bengal and Maharashtra/Uf&# sTre Sﬁ?w

3. Uttar Pradesh and Bihar/3aR ¥l 3R fagR

4. Madhya Praesh and Maharashtra/A&Ige GﬁTIIER'ITE;

Correct Answer :-

« Madhya Praesh and Maharashtra/ﬂmﬁw

56) The one-horned rhinoceros is specific to which of the following sanctuary:/ T&% W g A3
g 9 @ fra srvaRvY & fore fafdry @1

1. Corbett park/$ﬁ'c€ﬂ1‘cf7

2. Bandipur/aTEfTER

3. Kaziranga/®TSiR

4. Bhitar Kanika/fNaR &1

Correct Answer :-

. Kaziranga/®Toid

57) Production ponds are which of the following types?/3dTe drd fAeferfead # & {59 UoR & g

8?

1. Hot weather/3™ g
2. Rainy/ ST

3. Perennial/a'l?_{ﬂ:lﬁ

4. Cold Weather/iﬂﬁﬂ

Correct Answer :-

. Perennial/m
58) Function of peristome teeth is: /% gfd T TT F B

1. Protection/JR&l
2. Dehiscence of capsule/&Rd &1 faxhic



3. Absorption of minerals/@fe Uard BT G0T
4. Dispersal of spores/dSiTy] &I Yab 10

Correct Answer :-

« Dehiscence of capsule/HTRd HT fahie
59) Molarity of water is:/\_rl?r?ﬁlﬁmé:
1.18

2.55.5

3.100

4. 1000

Correct Answer :-

« 555

60) Abnormal development of spinal cord is called as / ﬁwweﬁuﬁammév
1. Neuritis / =R1sfcd

2. Myelodysplasia VR | ElRRS ISR

3. Tabes dorsalis / ¢4 SRUf™

4. Syringomyelia / SRSHgea

Correct Answer :-

« Myelodysplasia / A3l SR

61) The cotton and mouth disease in fishes is caused by which of the following? /A4l | ®led
3R Ay A e § @ fra sRU A glar 82

1. Filamentous bacteria/dde Siary]
2. Water pollution/STe UgHUT

3. Toxic agents/favrad &He

4. Haemorrhage/dd¥dld

Correct Answer :-

« Filamentous bacteria/ddd® Siarg]

62) One of the main fishery resource of India, the Ganga river has an area of:/maﬁwm
AIRGH TATYA T At BT &a%d 7

1. 20400 sq km/20400 T fareft
2. 33700 sq km/33700 I foeit
3. 40000 sq km/40000 I fe
4. 18300 sq km/18300 af fst

Correct Answer :-



« 33700 sq km/33700 T faeft

63) “Musca nebula” is the name of-/ “Wﬁgm"mmqm%-
1. Cat/faedl &1

2. Dog/ Fd &I

3. Housefly/ IR ARdT &7

4. Mosquito/ AR BT

Correct Answer :-

« Housefly/ Bq Al &I

64) Mycology is the study of -/HTa®I@rsi T gt gl
1. Algae/‘ﬁ?ﬂﬁ

2. Mycoplasma/HTrae T T

3. Virus/ ﬁNTUl

4, Fungi/&d®

Correct Answer :-
e Fungi/®ded

65) In which pond are the breeders released after hypophysation/ma?mw?ﬁ
fra Ui A BleTwET 81

1. Hatching pond/¥pcH Ui-g
2. Head pond/gs U8
3. Production pond/3dIG- s

4. Rearing pond,/dTe 4Ivu 4i-8

Correct Answer :-

« Hatching pond/wﬁ%’

66) Neurons in pheretima are-/ ﬁ?ﬂﬁmﬁ@%@%?
1. All of these/ g+t

2. Sensory/ dadt

3. Motor/ TR

4. Adjuster/ JHaSS

Correct Answer :-

« All of these/ T gt

67) There are two portal system in body. One of them Hypophysial portal system is found in:/

AR TR & @) 01dd 7 IURRIA &, 79 A U greUIBIedd UIdd oFf pel SUleUd g 8?2



1. Heart / §ad
2. Liver / g&hd
3. Brain/ AXIfdsh
4. Kidney / da

Correct Answer :-

« Brain/ ARIfA&h

68) Seedless fruit can be obtained by:/doRfgd wd Ure fHu i 81
1. Keeping the plants in Iight/@f%ﬁﬁmﬁw

2. Keeping the plants at 70°C/QeN &1 70°C TR G

3. Treatment with enzymes/ﬁﬁ% SR ¥

4. Treatment with hormones/BTHﬁ% STER g

Correct Answer :-

« Treatment with hormones/‘s’ﬂﬂ?% STER I

69) Cork cells are:/®Td SIS eI 21

1. Photosynthetic/ThTRIRIRaHT

2. Elongated and participated in movement/dad H YT - aTelt dell HIfRIHTT
3. Dead/Hd

4. Meristematic/fawaids

Correct Answer :-

70) Golden carp is:/Tesd H19 gidl 8:
1. Cyprinus carpio/ﬂﬁiﬁ?ﬁm

2. Tilapia/feafusi

3. Carassius carassius/dRIgd HIREH
4. Tinca tinca/fe=aT fe=TaT

Correct Answer :-

« Carassius carassius/mﬂﬂmfm

71) Edible part of sweet potato is a modification of:: /HIH =, BT WM TRY U TR B |
1. Tap root/HHdI $Ig

2. Stem/d-l

3. Underground branch/3eiyfH =ma

4. Adventitious roots/3ORITH® 1



Correct Answer :-

« Adventitious roots/3/RIT® 1

72) White blood cells act:/ &d Y& SbTa f6Y ag &1 H1 Hedl &
1. As a source of energy / U@ UHR H1 il wWiid &

2. As a defence against infection /W%ﬁﬁi&ﬂaﬂﬁﬁ

3. For clotting blood / Ydd &1 YFHT THH |

4. As a medium for oxygen transport from lung to tissue/ mﬁmwmq@aﬁaﬁmwn%Wﬁ

Correct Answer :-

« As a defence against infection / HHHUI & [d¥x &1 HA A
73) Azolla is a-/TSilT g -

1. Virus/faug

2. Bacteriophage/ \_rﬂﬁl'l'q‘i-ﬁ\_rﬁ

3. Bryophyte/&lT@IWlET:’

4. Water fern/Gi?qu_rf

Correct Answer :-

. Water fern/id %+

74) Chiropterophily involves /SR b T HEY B
1. Elephants/grfit 9

2. Batsﬁlﬂ"'l'lﬁ_s’@

3. Insects/ﬁ'c'@f

4. Birds/uah 9

Correct Answer :-

. Bats/gHes d

75) Elaters are present in sporangium of-/3dcd fhud SieTupeTt & urar wirar 81
1. Selaginella/ﬁ@ﬁﬁ?ﬂ

2. Marchantia/HR AT

3. Sphagnum/@v_’:ﬁ:[

4. Riccia/ﬁ'cR"-ﬁHT

Correct Answer :-

« Marchantia/AR&RIAT

76) Spoilage in fishes is due to the foIIowing:/Wﬁﬁ?ﬁﬁﬂﬁ@ﬁ%W@?ﬁ%l



1. All of these /3 gt

2. Bacterial action/SiiaTo[dig fosan
3. Chemical action/IM M foba
4. Enzymatic action/mm

Correct Answer :-

« All of these /3 gt

77) Mushroom is a -/H=H §:

1. Saprophyte/Hdsiid!

2. None of these / 378 I &1 g

3. Facultative Parasite/fdded! tReitdl
4. Obligate Parasite/ 3ffard tReidt

Correct Answer :-

. Saprophyte/H’dTrﬂTﬂ

78) To disinfect a water pond the following is mainly used: / W%Waﬁmﬁaﬂﬁ%ﬂ'ﬂ'@ﬁ:
frfafaa o1 3uahT far srar 8:

1. K;Cr,05
2. K5Cry05
3. K;Cr,05
4. KMnOy4

Correct Answer :-

79) Enzyme occur in plant body/Urgu®Td # fas: ume wid 81
1. Only in flowers/mgﬁqﬁ

2. Only in storage organs/W?rﬂl‘ﬁ YT H

3.0nly in leaves/&ad ufadl o

4. In all living cells/a} Siifad Sifrew &

Correct Answer :-

« In all living cells/gt Siifaa iR

80) The first heart transplantation in the world was done by:/ f3% &1 Ugd ged UaRIu- fa far
Uqr?

1. Sir F.G. Hafkin / @R U% Sft ghfdb

2. None of these / %ﬁﬁﬁ'ﬁc:@
3. Dr. Louis Pasteur / 31 g9 TIER



4. Dr. William Harbe / S faferas geif

Correct Answer :-

« None of these / $TH ¥ ®Is gl

81) Most of the insects do respiratory activities:/ @HWWWWWW??
1. Through their skin / <&dl gRT

2. Through their lungs / ﬁ?tb_eﬁm

3. Through their tracheal system / E‘W?ﬂ@ﬂ'{

4. None of these / $7H 9 ®Is gl

Correct Answer :-

« Through their tracheal system / <fad1 3 gRT

82) Pyridine on catalytic reduction gives:/33R¥d 3u=ea" W g ar e:
1. Furan/®1=

2. Piperidine/ﬁ'aﬂ@ﬁ?

3. Thiophene/%r@tﬁ:f

4. Quinolene/fdaAre

Correct Answer :-

« Piperidine/fUtIEH

83) Pneumatophores (breathing roots) are usually present in:/?{aa'ﬂﬁﬁ (RT ) AEHA: R
Eicd

1. Hydrophytes/STalafig

2. Xerophytes/tRE‘f\’l-qur

3. Mangrove pIants/ﬁ'ﬁIHUlE‘q
4. Epiphytes/3ffiurey

Correct Answer :-

- Mangrove plants/ﬁtﬁﬁqﬁq

84) Submerged weeds like Hydrilla, Naja, Vallisneria are the food of which fish?/ AT g
N grefyen, =ren, IRmRar fa wod @1 Hiem 32

1. Silver carp/ ReaR 1
2. Labeo/ﬁﬁéﬁ
3. Scoliodon/IBITeI3NSi

4. Grass carp/‘;rmﬂtf

Correct Answer :-

« Grass carp/J™ Eae]



85) List I (Theory) with List II (Scientist) and select the correct answer using the code given

below the lists:/ftRe 11 (3Tf®) & a1y fra= G 1 () iR I F 1 e 1w s &1 9d s a1
TG BN

List I/t I List I/ IT
1. Jean Baptiste Lamarck/ i sfp

A. Germ Plasm theory/SiH w9¥ fygid

B. Inheritance of Acquired Characters/ .
TR ifth SPTS BT 2. Hugo De Vrles/EQ"'ﬁEﬂaﬂﬂ

C. Mutation theory/TgﬁQFT dgid 3. Louis Pasteur/?j,"sc e
4. August Weismann/ 3T 999

.|A B C
3 2 1

2.|A B C
3 1 2

3.|A B C
4 1 2

4. |A B C
4 2 1

Correct Answer :-

. |A B C
4 1

86) The science of ageing is often referred to as?/ Gﬁﬁmmﬁaﬁmm%"
1. Phenology/ Wiralsit

2. Gerontology/ SRIerarst

3. None of these / 375 I ®18 g

4. Angiology/ TR3faTeH

Correct Answer :-

« Gerontology/ SRI-CIdol

87) The formula of ethyl mercaptan is:/@ﬁﬂ%@?iﬁﬂj?:
1. CoHsS CoHs

2. C;H5SH

3. CyH5 OC5Hs

4. CH30 CH3

Correct Answer :-

« C,HgSH



88) Pinctada vulgaris is also known as:/fUwreTa RT H s TW I oft ST ST @
1. Pearl Oyster/liﬁ'cﬁ‘{[f%[

2. Clam/&iH

3. Mussel/A9d

4. Seed pearl/dS Akt

Correct Answer :-

« Pearl Oyster/d gfad

89) When two or more than two types of fishes are cultured in the same pond it is called?/5d

31T 3 A AP YR Y Al 1 U@ & ara W Tad- forar Sirar @ o) 39 $8d 82
1. Mono culture/Udd Tae
2. Poly culture/sg TagH

3. Self culture/%d Tadq
4. Extra culture/3ffaRed ae=

Correct Answer :-
« Poly culture/dg dagH

90) During transportation, fishes die due to the following:/URaga ¥ IR waferal #t g f=fefaa
P PRGN 3:

1. Low Oxygen/ &H 3fiaio

2. All of these /a4 aft

3. High CO, /31f%& CO,

4. Toxicity due to Ammonia/ 3T & HRUT [auTEHar

Correct Answer :-

« All of these /3 9+t

91) When Glucose is heated with Fehling’s solution the precipitate obtained is:/x‘:ﬁ‘?[clﬁ\_rrﬁ
Fgfer fafer & a1y Ry f5an ST @ 99y g arer sEa g:

1. CuO

2. CgH1,0¢
3. Cuy0

4. Fey053

Correct Answer :-

. CUZO

92) Gynobasic style is found in:/TATSY® wgd IR STl B
1. Labiatae/Lamiaceae/afaudt / aftrgsdt



2. Malvaceae/HTeddt
3. Compositae/HTHISTE
4. Gramineae/Jftt

Correct Answer :-

. Labiatae/Lamiaceae/aﬁEﬁ/ d ﬁQF‘

93) Molecule of C¢HsCOOH in CgHg undergoes:/CgHg # CgH5COOH 37U] &1 & STaT &:
1. Polymerization/SgaIdbRul

2. Ionization/\HTCF-ﬂWUT

3. Association/ITU

4. Dissociation/ﬁ!ﬁﬁ:ﬁm

Correct Answer :-

« Association/IUH

94) Spermiation is the process of release of sperms from:/ WfHT=M, IBTUeH ®) fFa oF1 I AR
$ P uferar 82

1. Vas deferens/ a9 fehd

2. Prostate gland/ UR<e fY

3. Seminiferous tubules/ YHMAHIT AfeTHTY
4. Epididymis/@%ﬁ%ﬁm

Correct Answer :-

. Seminiferous tubules/ AR Afereg

95) Example of a passive net to catch the fish is: /T3l UHs aq fAfSFa AT &1 IR0 2:
1. Ber Jaal/sR W@

2. Drag net/3T oTd

3. Trammel net/<Hd oITd

4. Drift net/f$uc Srd

Correct Answer :-
« Trammel net/aﬁ?f SIS

96) Some fishes like, Tetra require the following optimum pH:/$3 Uil Y, 99 o1 oI fAftafa
TR pH P TTTHAT Bl &:

1.6.8t07.2/6.8¥7.2
2.6.4t06.6/6.4T6.6
3.7.3t07.4/7.397.4

4.75t07.7/7.597.7



Correct Answer :-

. 6.8t07.2/6.8¥7.2

97) The example of submerged weeds in fish ponds is:/nwmﬁﬂamwwmmw%:
1. Azolla/TlId

2. Water lily/afeR foreft

3. Utricularia/gfcagaRar

4. Lotus/&HA

Correct Answer :-

« Utricularia/gfcagaiar

98) Semi permeability is the property of -/GWfEIR'ITW?lT'{IUT%I
1. Endoplasmic reticulum/TUSI@oH® SfeHpad

2. Golgi body/‘ﬁﬁﬁa@

3. Cell wall/@IfRrepT fircdt

4. Plasma membrane/tﬁmm

Correct Answer :-

« Plasma membrane/w%v_vﬁ

99) The Star Fish is the name of:/ RT A 79 & A fFa®T A4 82
1. Antidon / TfeSH

2. Asterias / Q@ﬁ'ﬂﬁ

3. Marine archin/ W&Nﬁ?

4. Holothuria / giaryfar

Correct Answer :-

. Asterias / TRRTg

100) For nonlinear triatomic molecule like H,0, the numbers of allowed modes of vibrations

are:/H,0 3 3RTY 3upait & firg Hu= o Wiwd fyursit #Y e
1.3
2.6
3.9

4.4

Correct Answer :-



